1. NO BARRIER IMPOSED

Looks good.

Stations_S04_TOT

OutputVectorMap_nobarrier
CLASS BREAK
I 1 - 0.000000 - 1,228790
B 2-1.228792 - 2.211822
¢ 3- 2211824 - 3440610
‘ 4 - 3.440637 - 5160887
5-5160923 - 7.863519
[16-7.804304 - 14.214075

[0 7 - 14625266 - 26453287

S 8- 27.733103 - 42.984402

9 - 45230457 - 62.668316




2. BARRIER IMPOSED (red line)

Data range should be 0-63, not 0-13.

Lr OutputVectorMap_barrier
Barrier IDW el CLASS BREAK

— L, I 1 - 0.000000 - 1.164685
Stations_S04_TOT B 2 - 1164703 - 1958813
. " r ¢ 3 -1.958814 - 2647045

= (YA 4 - 2.647048 - 3388211
S . 5 - 3.388218 - 4.341039
10 6 - 4341215 - 5.347009

I 7 - 5.347096 - 6.458530

8 - 6.458072 - 8099565

9 - 5.0999658 - 15.499931




